SIEMENS

9. Reference fig. 9 - Installing the neutral lug assembly (item 13).
The branch neutral can be mounted at the bottom of the z-rails
or mirrored to the top depending upon the feed location.

The neutral lug assembly (item 13) can be mounted

(as shown) on either side of the branch neutral depending on
feed location. Torque all hardware as specified on the rear

of the deadfront.

Switchboard/Powerpanel Kit .
SEB/SEBD for Branch e
Mounting Type EB Circuit Breakers

PANELBOARD
REFERENCE —_
2 o
o |®
.
Q
Q
o
o
o
Q
8
_L/y

SWITCHBOARD
REFERENCE

Figure 9

10. Install the 3.75" EB cover plate (item 7), use the blank filler
(item 14) to cover empty circuit breaker slots.
Reinstall the deadfront using the breaker cover plate
supplied with this kit. Other cover plates may be required
for proper fit. See filler plate kits listed on the rear of the
deadfront.

SEB/SEBD PAGE 4 11-B-1020-01 Rev. 1

Y



Installation Instructions

The following instructions are for the installation of Siemens EB circuit breakers in switchboard or shallow/deep panelboards
applications. This kit will require 3-3/4” of unit space. The parts provided in this kit are for connections to a 3 phase / 3 wire

or 3 phase / 4 wire system.

e

Hazardous voltage.
Will cause death or
serious injury.

Keep out.

Qualified personnel only.
Disconnect and lock off all

A DANGER

power before working on
this equipment. J

\_

1. Lock off power supplying this equipment before working
on it.

2. Reference fig. 1 - Remove the (2) gutter covers and cover
plates.

COVER
PLATES

GUTTER
COVERS

Figure 1

3. Reference fig. 2 - To mount an EB circuit breaker, 3-3/4” of
empty unit space is required. To locate the mounting
position, measure from the top deadfront support to the
top of the empty unit space filler on the deadfront.
Transfer this dimension from the deadfront support along
the z-rail and mark. This will be the unit space as shown
on fig. 4. After marking the z-rail, remove the deadfront.

DEADFRONT
SUPPORTS

Z-RAIL —|

Figure 2

UNIT SPACE

4. Open the shipping box and check the hardware against
the following list:

ITEM DESCRIPTION QTY.
| |EB 'A/C' PHASE BRANCH BUS 2
2 |EB '‘B' PHASE BRANCH BUS
3 |EB MOUNTING BRACKET 2
4 |CARD HOLDER 6
5 [1/4-20 X 5/8" SHWHSW 6
6 [I/4-20 X 3/8" SHWHSW 2
7 |3.75" EB COVER PLATE \
8 |BARRIER 2
9 |CIRCUIT ID CARD 6
IO |LINE CONNECTOR 3
Il [l0-24 X 1/2" SHWHSW 6
2 |STRAP - SECTION BUS HARDWARE KIT \
I3 |INEUTRAL LUG ASSEMBLY
14 |BLANK FILLER 6
15 |l0-24 X 5/8" SHWHSW 6
6 [8-32 X 3/8" HWHS 6
I7 |MOUNTING BARRIER 2
I8 |BOX
19 |CARTON LABEL

5. Reference fig. 4 - Installing the branch bus.
Locate two 0.228” diameter holes in the Ag bus 1-1/4”
down from the top of the 3-3/4” empty unit space selected.
Insert two 1/4-20 thread-forming screws (see mounting
hardware kit instructions located in item 12 for the proper
length) through two 0.281” diameter holes in the A/C strap
(item 1) and into the two selected holes in the Ag
bus (orienting the A/C strap as shown) and tighten.
Repeat this step to mount the second branch to the Co
bus using two 0.228” diameter holes 1-1/4” down
from the holes used on the Ag bus and tighten.
Insert two more 1/4-20 thread-forming screws through the
0.281” diameter holes in the Bg strap (item 2)
and into the 0.228” holes located in the Bg bus,

11

14” down from the top of the 3-3/4” empty unit space

used on the Ag bus (orienting the Bo strap as shown)
and tighten. Torque all hardware as specified on the rear

of the deadfront.
REFER TO
— 363 HDW KIT
o INSTRUCT IONS
O LOCATED IN
o o ITEM 12 FOR
PROPER
B LENGTH HDW.
.25 | O
(D @ ]
.25
O O j
— O O
O O
Ag By Co

Figure 4

SEB/SEBD PAGE 2

| o
— o0 o o o oo
T
02 O go
0.63 o o o o o o
o o
* oll o olle
o o o o o o
r© O s [0)
e @D I oo ®
o o
® o o (OX0) @
o o T @
o o o o o o
o o
@/OO Oo
o o o o o oo o
Ag Bg Co olle
\o< o o o
3 Sl I
Figure 5 — °

7. Reference fig. 6 - Installing the line connector & barrier.

6. Reference fig. 5 - Assembling the mounting bracket.

Locate a 0.228” diameter hole in the left z-rail 5/8” below the
top of the empty unit space selected. Insert two 1/4-20 X 5/8”
screws (item 5) through the ¢0.312 hole in a mounting
bracket (item 3) and into the selected hole in the z-rail
(orienting the barrier as shown) and tighten. Repeat this
step for the second mounting bracket. Torque

all hardware as specified on the rear of the deadfront.

SCREWS AND #6 SCREW CLIPS
ARE SUPPLIED WITH EB
CIRCUIT BREAKERS. #6
SCREW CLIPS ARE USED
WITH |-POLE BREAKERS @<

Align the two center holes of the line connector (item 10) with
the A/C @ branch bus. Align the two outside holes of item 10
(as shown in fig. 6) with the Bg branch bus. Secure all line

connectors with 10-24 X 5/8” screws (item 15). Insert a 1/4-20 X 3/8”
screw (item 6) through each of the 0.25” diameter holes in the barrier
support (item 8) and into the 0.218” diameter holes in the line connector
(item 10) and tighten. Torque all hardware as specified on the rear

of the deadfront.

. Reference figs. 7 - Installing an EB circuit breaker.

Place the Mounting Barrier (item 17) between load

side of EB breaker and EB mounting bracket.

Align the EB circuit breaker mounting holes with the
corresponding holes in the mounting barrier (item 17)

and mounting holes in the mounting bracket (item 3)

and secure the outer screws (supplied with circuit

breaker) to the mounting bracket (item 3). Align the breaker
line side connectors with the line connectors (item 10). Insert
a 10-24 X 5/8” screw (item 11) into the 0.203” diameter hole
in the metal contact on the line side of the circuit breaker.
Repeat this step for mounting the rest of the hardware.

This step can be repeated or mirrored for additional

circuit breakers. Torque all hardware as specified on the
rear of the deadfront.

ST Ty
9
o 000
9
O BHE
CIRCUIT ///// . o
Q| O
BREAKER : o
h‘Zh') Q Qa
9 DQ
|7
7 ' . o R
‘ 3 S > 2 ° Y N
NI T4 T
Syl
9
< |
Q
Q o
., S 0
J Q Qu N
o e 0\0 N
S| e Y
Y ° OQ QQ%QO o
[ o o @ o S\\°
®’ e o @
&) [i: 4R
9 o Q Q 9
J ° S
_ - 9
g | Q%
Q o
\- L —
Figure 7

//\\——SHALLOW KIT

REFERENCE

SEB/SEBD PAGE 3



	11-b-1020-01_A.pdf
	11-b-1020-01_B.pdf

